








• •







1,
50

4

3.
3



















7







80
,0
00

H3
0

1,
60

0
R 1,
60

0
R2 1,
60

0
R3 68
,0
00

R3







3
(6
5,
61

2
)

4
(6
5,
74

2
)

To
p1

0
5

(4
,4
37

)
10

(3
,7
87

)







68
8

R1
50

0

R2
0.
6

R2
13

4
R3

0.
6

R3
53

R4
0.
6

10

To
p1

0

20
02

20
16

4
11

20
02

20
18

70
.2

61
.4
%

















• • • •

• • • • • • •





















W
G

:3
0,
00

0
2

:7
6,
80

0













1,
85

3
1,
02

9
82

4
(1
)

(7
)

(1
)

(2
)

(3
)

(4
)

(5
)

(6
)

(7
)























































1 HP


















